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1 ky6.m IBC, pyb. =

1 ky6 m XBC gna BC+ Mogorpee=
=27,96+161,53=189,49 py6/kyb m
Noporpes = 0,0648 M'kan/ky6 m

*2492,75 py6/rkan=161,53 py6

Tapu¢ Tennocetu
2492,75 pyb/Tkan
Hopmatus 0,0648
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Cymma o6bemos MBC 1 XBC no Ky6 m
unamena. ci. 38,34 py6./xy6m | 38,34 py6/kybm
dakTuueckoe notpebnexne: ‘ Kyb m Tapu® Py3ckui
62K.*1,1mM3+10%0,9Mm3= 77,2 Ky6 m pernoHasbHbIi
Mnowaab nomeLLeHUi (unbix 1 onepatop 972,08
Heskunbix): 14525,10 kB M py6/ky6 m
77,2/14525,10=0,005315 Ky6.M./KB.M.
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M /KB M J 189,49 py6
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8605 KBT
8605/14525,10=0,5924 KBT/KB M

0,5924 *4,29 py6= 2,5415 py6/xem |

4,29 py6/kBt
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0,0011*38,34 py6=0,0421 py6/kB m

CkaHunpoaHo ¢ CamScanne



